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I 2 Méthode des déterminants I

T&'W R},Z &G/V‘UV\ !
— ot 6? = C
£

jall/& YIZAIL@M ' WW“ " c |
d)ﬁ@g = c
do4ﬂak@@}63
(i | pon mbinaizna diiowes =
’ ) Ly aa’mafnia(
{m&(@g- c |a e ;

@\J+62~ C)

a ( \
(.:)’ Zz “d&\‘l’ﬂ&n:iac
¢ ou

Ls ‘aél—féb:'gc

| / | I /

Lol (ox+[sbat]y=acac |y, a’ffmﬁtnsﬁc
ﬂ

“Q

L z(\ ( '
- éﬂgc
Lyyl,

at-al Yy = 0\51“&{(>
N0nth

(ot aC)ax= (Gc-CC)
= i D = Ce-te! = ;Dx

. gxf/r ‘f@réjfﬂ' 0(0 -

ot

D /g = QC(‘&C = D
Do g, Dy
o (Do b =T 4=

DyiO [ [OJ@DR

o\g:b?
dgﬁoﬂ%ﬁO{W%®6¢
(ﬁa«%}wwtouﬂ&aﬁ@ >

on D&c;O Lt Dﬁ:O
7 of [gz(::g of (3\96/'\g
[ sl ot il

_— YT .



cours-syst-cramer-1.notebook March 26, 2020




cours-syst-cramer-1.notebook March 26, 2020

Exemple : exercice 9-n°1
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Exercices

9 Résoudre dans IR2
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